

## GOVERNMENT COLLEGE OF ENGINEERING, KARAD. Vidyanagar, Karad 415 124. Tal: Karad, Dist: Satara, Maharashtra, India.

Phone No.: (02164) 274066, 271711, 272414, 272415) Fax No.: (02164)

271713 Email: gcek\_brns@yahoo.co.in

No. CEK/QUOT/Old Parking Shed/2019-20/ 3838

Date: - 113 NOV 2019

To,

13. Nu.

1.3. NOV 2019

Sub: -: Providing Parking Shed to E and F Quarters using old parking shed material and painting of Basket Ball Court at GCE, Karad

Dear Sir,

With reference to the above, I request you to please quote your most comparative rates for the work as detailed overleaf/enclosed so as to reach the office on or before 25/11/2019. The prices of the work should be quoted to G.C.E., KARAD and exclusive of all taxes. The delivery period should be stated clearly and adhered to 'AF' or 'D' forms will be supplied where necessary. The R.R. through Bank or V.P. will not be accepted if order is placed. The specification of the material should be mentioned in full such as brand, make and company etc. I do not bind myself to accept/reject the offer, and its detailed leaflet must be attached. Your quotation should be valid at least for 30 days from the date of opening. The quotations should be sent in a sealed envelope. The envelope should please be superscripted with words 'QUOTATION DUE ON - Principal, Govt. College of Engg. Karad'

With this office reference no. & date of opening should also be mentioned on the sealed envelope. If the materials are not supplied according to the specification, it will be returned to you at your own cost. If ordered, you will have to submit three copies of the bill, which will be passed after receipt of material in good condition. Please note that if there is any overwriting in the quotation, the said item will not be taken in to consideration unless is initialed.

The quotations should be received on or before: - 25/11/2019 on or before 4-00 pm.

The quotation received will be opened on: - 25/11/2019, at 5-00 pm.

## 'QUOTATION - Principal, Govt. College of Engg. Karad'

## RECAPITULATION SHEET

Name of Work: - Providing Parking Shed to E and F Quarters using old parking shed material and painting of Basket Ball Court at GCE, Karad

SUMMARY SHEET			
Sr. No.	Item Description	Amount	
1	Work Portion	265777.00	
	ADD GST 12%	31893.24	
	TOTAL WITH GST	297670.24	
	Say	297670.00	

	Abstract Sheet					
Sr. No.	SSR 2019-20 Item No.	Item Description	Qty	Unit	Rate	Amount
1	38.26 Pg. No. 300	Removing G.I. or A.C. sheet roofing including purlins, principal rafters etc. including sorting serviceable and unserviceable materials, stacking the same as and where directed in the compound including scaffolding etc. complete.	60.00	Sqm	71.00	4260.00
2	38.27 Pg. No. 301	Removing and lowering the roof truss carefully without damaging the members and stacking as and where directed in the compound including scaffolding etc. complete.	14.00	Nos	620.00	8680.00
3	21.02 Pg. No. 187	Excavation for foundation in earth, soil of all types, sand, gravel and soft murum, including removing the excavated material up to a distance of 50 m. beyond the building area and stacking and spreading as directed, dewatering, preparing the bed for the foundation and necessary back filling, ramming, watering including shoring and strutting etc. complete. (Lift upto 1.5 m.) By Mechanical Means	11.04	Cum	157.00	1733.28
4	21.06 Pg. No. 187	Excavation for foundation in hard murum including removing the excavated material upto distance of 50 metres beyond the building area and stacking and spreading as directed, dewatering, preparing the bed for the foundation and necessary back filling, ramming, watering including shoring and strutting etc. complete. (Lift upto 1.50 m) By Mechanical Means	11.04	Cum	172.00	1898.88

		Filling in plinth and floors with contractors material/brought from outside and approved by Engineer incharge in layers of 15 cm to 20 cm including watering and compaction etc. complete.  Providing and laying Cast in situ/Ready Mix cement concrete in M15 of trap/	2.76	Cum	440.00	8580.00
And the second	191 24.08 Pg. No.	Engineer incharge in layers of 15 cm to 20 cm including watering and compaction etc. complete.  Providing and laying Cast in situ/Ready Mix	2.76	Course	5170.00	
	24.08 Pg. No.	including watering and compaction etc. complete.  Providing and laying Cast in situ/Ready Mix	2,76	A second	2120.00	
	Pg. No.	complete. Providing and laying Cast in situ/Ready Mix	2.76	Carre	*150 00	The same of the sa
	Pg. No.	Providing and laying Cast in situ/Ready Mix	2,76	F	2170.00	Company of the Compan
	Pg. No.		2.70		5179.00	14294.04
	40.	cement concrete in M15 of trap/		Cum	3.,,,,,	
	218					
West of the second second		granite/quartzite/gneiss metal for bed blocks.				
		foundation blocks and such other items including				
1		bailing out water, Steel centering, formwork,				
		laying/ pumping, compacting, roughening them				
		if special finish is to be provided, finishing				
-		uneven and honeycombed surface and curing			_	
-		etc. complete. The Cement Mortar 1:3 plaster is				
		considered for rendering uneven and				
-		honeycombed surface only. Newly laid concrete				
		shall be covered by gunny bag, plastic, tarpaulin				
		etc. (Wooden centering will not be allowed.).				
		with fully automatic micro processor based PLC				
		with SCADA enabled reversible Drum Type				,
		mixer/ concrete Batch mix plant (Pan mixer) etc.				
		complete. With fine aggregate (Natural Sand /				
and the same of the same of		Crushed sand VSI Grade finely washed etc)	20.50	Cum	5456.00	111848.0
7	24.10	Providing and laying Cast in situ/Ready Mix	20.50	Cum	3 130.00	
	Pg. No.	granite/quartzite/gneiss metal for bed blocks,				
	227	foundation blocks and such other items including				
		bailing out water, Steel centering, formwork,				
		laying/ pumping, compacting, roughening them				
		if special finish is to be provided, finishing				-
		uneven and honeycombed surface and curing				
		etc. complete. The Cement Mortar 1:3 plaster is				
		considered for rendering uneven and				
		honeycombed surface only. Newly laid concrete				
		shall be covered by gunny bag, plastic, tarpaulin				
		etc. (Wooden centering will not be allowed.),				
		with fully automatic micro processor based PLC				
		with SCADA enabled reversible Drum Type			-	
		mixer/ concrete Batch mix plant (Pan mixer) etc.				
		complete. With fine aggregate (Natural Sand /				
		Crushed sand VSI Grade finely washed etc)				
8	MARKET		15.00	M.T.	500.00	7500.00
	RATE	Engineer Incharge including erecting, fixing in			200.00	/300.00
		position etc. complete (Market Rate)				

		•			and were the second section in the second	T nane Can
10	23.03	Providing structural steel work in single	0.399	M.T.	70819.00	28256.78
	Pg. No.	stanchions composed of R.S.J. Channel etc. with				
	223	caps, bases, mild steel plated, angle brackets,				
		cleats, gusset plates, anchor bolts etc. as per		Artificia and		
		detailed designs and drawings or as directed				
		including cutting, fabrication, hoisting, erecting				
		fixing in position, making riveted/ bolted/				
	T-padicipe.	welded connection and one coat of anticorrosive				
	The state of the s	paint and over it two. coats of oil painting				
		approved quality and shade etc. complete.		Cam	94.00	12220.00
10	38,04	Providing and fixing corrugated galvanised iron	130.00	Sqm	,	
	Pg. No.	sheets of 0.63mm thick (24 B.W.G.) for rooting				
	297	without wind tiles including fastening with				
		galvanised iron screws and bolts, lead and				= ,
		bitumen wasnets as per				
	and the second	complete.( weight			and the same of th	14660.00
		(Labour rate only)	20.00	Sqm	733.00	14660.00
11	38.04	Providing and fixing corrugated galvanised iron sheets of 0.63mm thick (24 B.W.G.) for roofing				
	Pg. No.	without wind tiles including fastening with				
	297	galvanised iron screws and bolts, lead and		5		
		kituman washers as per drawing cit.				
		complete.(Weight of 5.5 kg/sq.m.).				-
		(Completed Item)		Lumpeum		3000.00
12		I be with a and applying two coats of lead/zinc		Lumpsum		
12		hituminious paint of approved				1
	entition of the	land to ald/ new structural steel work and non			2"	
	All of the suppose	lands in buildings including scarrolding in				
		necessary, cleaning and preparing the surface				
		-t- complete		Lumpsum		3000.00
13		Providing and fixing all types of screws,nuts		•		
		bolts fixitures with all lead lifts completely etc.  Providing and applying two coats with gap of	436.63	Sqm	105.00	45846.15
14	MARKET	two hours of smart colours floor coat high				
	RATE	and the antickid water based Emulsion paint for				
-		integrior and exterior concrete surfaces of				
		approved colour including cleaning, preparing				
		the surface and watering the surface for two days				
		if necessary (excluding primer coat) etc.		7		
		complete.				A ( PPPP 13
		TOTAL AMOUNT				265777.13
-	-	SAY				265777.00
1						

Principal,

Govt. College of Engineering, Karad.